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QUESTION 1

Which benefit does the Branch Office Caching Services (BOCS) architecture provide in a single- repository distributed
environment?

A. A copy of the content to store at each location is created.
B. Content upload and download performance is improved.
C. Content and properties from the repository are published to a target site.

D. Global users, global groups, and global ACL\\'s can be created on a governing repository to be replicated onto
member repositories.

Correct Answer: B

QUESTION 2

What is used to transfer files between D2 and the client browser?
A. ActiveX only

B. ActiveX and Unified Client Facilities (UCF)

C. ActiveX or HTTP

D. UCF only

Correct Answer: C

QUESTION 3

Which statement is true regarding entry criteria for a particular state?

A. Entry criteria cannot be bypassed.

B. To bypass entry criteria, a user must modify the policy using Composer.

C. To bypass entry criteria, a user must own the lifecycle policy object or be a superuser.
D. To bypass entry criteria, a user must have Write and Change State permissions.

Correct Answer: C

QUESTION 4
What is shared by a lightweight sysobject (LWSO) and its parent?

A. replication
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B. versioning
C. security
D. subject

Correct Answer: C

QUESTION 5

A user wants a list of documents with keywords that contain the words \\'parent,\\' \\'child\\' or both \\'parent\\' and
\\'child.\\

How should the following query be completed to achieve this result? selectobject_name from dm_document

A. Where any keywords=\\'parent\\' or keywords=\\"child\\

B. Where any keywords=\\'parent\\' and keywords=\\'child\\

C. Where any keywords=\\'parent\\' or any keywords=\\"child\\
D. Where any keywords=\\'parent\\' and any keywords=\\"child\\

Correct Answer: C
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